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Chapter 2b Review ' Block:
No Calculator

Graph the function with at least 3 labeled points.
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3. 4x>—20x+25 - 206 16Y° 4. 25x°-36 ¢ —

4. Solve the equation by factoring. szt = Alusys Check Ao GUF (ST F

a) x*+1lx=-10 b) 3x*-9x=0 c) 8x° -10=38x
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5. For the following function: f(x)=2x>-3x+1. Find thfor the graph ot the quadratic function...
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c) by using the quadratic formula

b) by completing the square
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6. Write the quadratic function in standard form with the given zeros.

a) zeros of -5 and 3 . b) zeros of _$ and 2
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7. a) Complete the square to rewrite y =3x* —12x + 7 in vertex form. :)_7 = 3 (Xz— 4x) W« Ez(‘ﬂl
2 2 “
b) Identify the vertex of the function in part (). g-7e2) 53 (x- e )
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8. Find the zeros (over the complex number system) {ising the quadratic formula, )
. avg nw;ﬂw7 solfovs are ow

a) f(x)=x>-14x+39=0

W Do g r Jwe-se o 11240 l4o wxzlo _, Jio
- = 2

- 2013 2 ks

{4

b) f(x)=10x*+9x+4 =D
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9. Find the Eﬁaﬁumbe;zof solutions. Explain how you arrived at your answer in a sentence or two.
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a) 8x°-5x=-9
Bxt-sx+9=0

b-dae = 25-4(8) @) =263 <©

b) 3x°+2x-6=3
3 +w-9=0

Y -Yac = 4-4(Dka) = (27O
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10. Simplify. Write the answer in a+bi form.

a) J-36 :I bi& b) v-80 = |4i® ¢) (3-5i)—(6—1)
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11. Solve for x (over the complex number system) and simplify the answer(s):

a) x> —20x+125=0

x,i\zo,(-\—m = |25 +10
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12. Plot the pair of numbers in the complex plane. . Imaginary
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13. Find [3+7] = J@*+ (¥ = -4 b)
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14. Solve (pverthe complex number system))and simplify your answer:

a) —(x+7) =5 b) 2(x+9)> =-8
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15. Solve the inequality using algebra and a sketch: 3x2 +4x-3<1
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16. Graph the inequality *
a) y=x'+2x+5 b) y>-2x*+8x-14
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Calculator Allowed

17. The highway mileage m in miles per gallon for a compact car is approximated by
m(s) =—0.025s> +2.455-30, where s is the speed in miles per hour

a) What is the maximum mileage for this compact car to the nearest tenth of a mile per gallon?

30.025 miles per allon (‘f 9, 50-025)
b) What speed results in this mileage? : _ on
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18. A football is kicked from !ground level }\Vith an tinitial vertical velocity of 48ft/s. The formula for projectile

motion is A(t) =—161" + vyt +h,. o I
a) Model the height of the ball as a function of the time after it is hit.
W)= —let> + Yot h
b) How long is the ball in the air? " W(
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19. Solve the inequality using any method: 2x*>+3x+6>5 o0&
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20. A business offers educational tours to Patagonia, a region of South America that includes parts of Chile and &
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Argentina. The profit P forE number of persc?n} is modeled by the equation P(x) =-25x% +1250x —5000. The y
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trip will be rescheduled if the profit is less than $7500. How many people must have signed up if the trip is
rescheduled? Write your answer as an inequality. < 13.820 of X 3620 \
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21. Claire is participating in a running club and keeps record of how many miles she runs. The data below’t" BEMER

ran in the amount of days given. (J se the model to estim@the number of miles that Claire ran in 25 days.
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=1
Claire’s Running Record - oot +.llx +.72.
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